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‘ —— | To find:

: /——\
‘Given: Use: the third side and then one of the |
SAS Jaw of cosines | remaining angles.
;
SSS Jaw of cosines any two angles

law of sines the remaining sides.

RLNTERE
AAS i ;
_‘/_\Eé_ofr_/ an angle 0pp0$1te a given side and
! then the third side. (Note that 0,
SSA law of sines 1, or 2 triangles are possible.)
e e
fateye
sines, remember that every acute angle apg i
lue. Class Exercises 4—7 show how you cap el
gle.

When you use the law of
supplement have the same sIne value.
which angle is correct for a given trian

CLASS EXERCISES

1 Exercises 1-3, state an equation that you ¢

B 5
L

6

an use to solve for x.

s 1~

=4,y=8, and £Z = 50°.
hundredth.
arest tenth of a degree.

In Exercises 4-7, consider &

0 find z to the

#ics to find the measure of /£
(he measure of /X,

e x <z <y, what can you say about the measures of
- Do your answers to Exercises 5 and 6 agree? If not, find your errd

4. Use the law of g

5. Use the lq
b

U

and £7!

WRITTEN EXERCISES

Solve each triangle. Give len
to the nearest tenth of a de

m®\ﬂ=8,b=5 £C = 60° = ‘o
: —3 = =120
P x=9y=40,;=4 Wit b wmh, LN

P=3,q=8,AR=5()° @a=6,b=10,c=71150
‘a=89b=7,c=13 \6'd=59e=90LF'—
8. 5=10,y =117

gths to three significant digits and angle measur®
gree, ”

e e
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at q ’ A
10. AB=5,BD = A
o 5,DC—3’AC=7

In Exercises 11 and 12, fing
g th
AABC. Give your ansv;ers € length of the Median from A in the given

in simplest radicq
@a=8,b=4,c=6 al form,

its diagonals?
14. An isosceles trapezoid has a hei

ht
How long are its diagonals? ght of 4 cm and bases 3 cm and 7 cm long.

Find the area of each quadrilateral to the nearest square unit

16.

@ Aviation Two airplanes, at points A and B in the diagram at the left below,
have elevations of 23,000 ft and 18,000 ft, respectively. Both are flying east
toward an airport control tower at 7. From T, the angle of elevation of the
airplane at A is 4°, and the angle of elevation of the airplane at B is 2.5°. How

far apart (in mi) are the airplanes? (5280 ft = 1 mi)

8000 ft

3 Bl soms i
18,000 ftl < Zaen0sE 255 I

Ex. 17

%S shale ledge

e Ex. 18

an oil well at A was drilled 3400 ft
dge was only 1950 ft deep when
ly downhill from A. The hill is

the right above,
ale. The same 1§
ich is 8000 ft direct

18. Geology In the diagram at
before it hit a ledge of sh
drilled from a well at B, Wh

inclined at 15° to the horizont:liies in a plane, how far down the hill from B

led,
B g wessne thattimh: shale ledge to emeree?

i you eapect een the ledge and the hill?

: Triangle Trigonometry

~b. What is the angle betW
’ = )
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